YA

® C(-3, 0)

H7]

© B(0, 2)
@ E(47 _2)

@ A(3, 3)
@ D(27 _3)

il
KO

A

xZ 9o Holn g (2, 0)

A DO #HEE (-3, 2)

s
=

B




A P(a, b) 7t Al 4 AHEW 919 QL W), H A(ab, a—b) = A B
A $10] 1A Fatoler

a>0,b<00EZ ab<0, a—b>0
webA A (ab, a—b) = Al 2 AR $)] lck




AH2 &y = ax o] @ zofr}, oF

olp

o}

Fod=t.

o A& 7

o

o]t

10 |

AAUBZ g

=
=

o] A== (2, 5)




4. FH(a-2 2+a)7t &5y =3x9 THZ glof AL W, 4 a9
= Fshozt,
>

> AE:a=4

A (a-2, 2+a) °] &y =3x o] 1L 9Jof & o,
y=3x°l x4 a-2, yth4l 24+ a5 Y5t S2o] FH3ict.
L 24+a=3%x(a-2)

24+a=3a-6

—2a = -8

Ta=4




278 WESHE P47 AT @ 0, mn @] S Totolel.

= A 4, n), (m, 6)= At

278 Ak Aok,




